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9.4.1 ABCDE at right is a regular pentagon. Show that AEQB is a thombus.
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844 TUVW isarhombus with TU =10 and £TUV = 60°.
(a) Show that /TUW = 30°.

(b) Find [TUVW]. - q 3. (hz
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84.3 Diagonals ACand BD of quadrilateral ABCD are perpendicular. Prove that[ABCD] = (AC)(BD)/2.
Hints: 438
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In equilateral triangle ABC with AB = 8, points P and Q are chosen on side AB
so that AP = BQ = 2. Similarly, points R and S are chosen on side BC so that
BR = CS = 2, and points T and U are chosen on side CA so that CT = AU = 2.
If the area of hexagon PQRSTU = H, fm@




